Monday 5/27

Tuesday 5/28

Wednesday 5/29

Thursday 5/30

Friday 5/31

An airplane traveled a
distance of 2,946 km.

Estimate the value of

Write the prime
factorization for 72

Find the sum of the prime
numbers between 1 and 10

Find the value of

Round the distance to the | 3,268 x 7 628,000 +~ 103
nearest 1,000km.
Answer: Answer: Answer: Answer: Answer:

Monday 6/3 Tuesday 6/4 Wednesday 6/5 Thursday 6/6 Friday 6/7

Find the value of the
following expression:

12-4+2+6

What is the missing
number?

(29x 4)=(25x 4) + (2 x 4)

Alex has 76 cards. Gene
has 24 fewer cards than
Alex. How many cards
must Alex give to Gene so
they both have the same
number?

Oranges are packed in a
box of 4 layers. Each layer
has 6 rows of oranges with
8 oranges in each row.
How many oranges are
there in the box?

David is 18 b lighter than
Paul. Their total weight is
250 Ib. Find David’s
weight.




Answer: Answer: Answer: Answer: Answer:

Monday 6/10 Tuesday 6/11 Wednesday 6/12 Thursday 6/13 Friday 6/14
Divide. Express your Which is greater... Subtract Mathew had 64 What number is exactly
answeras a fraction in watermelons. He sold — of | half way between — and —?
simplest form. 2 9 3 1 4 5 7

4— or — T—+2— them. How many How do you know?
8=12 3 2 5 4 watermelons did he sell?
Answer: Answer: Answer: Answer: Answer:
Monday 6/17 Tuesday 6/18 Wednesday 6/19 Thursday 6/20 Friday 6/21




i 2

Of the 40 students in a 2% X 53 After spending 3 of her i X E Of a sum of money, 3 is

class, 3 are girls. Of the money on a handbag and 1220 $240. What is the value of
()

girls, — wear glasses. How $20 on a belt, Mary had the sum of money?

4 $25 left. How much money

many girls do not wear did she have at first?

glasses?

Answer: Answer: Answer: Answer: Answer:

Monday 6/24 Tuesday 6/25 Wednesday 6/26 Thursday 6/27 Friday 6/28
Find the area of the Find the area of the A square has a side of 6 cm. |  Find the perimeter and areaof | Find the circumference and

triangle:

9 /\\

ll\r,
) \

parallelogram:

S

i5m

What is the width of a
rectangle with the same
area as the square and a
length of 9 cm?

arca.




Answer:

Answer:

Answer:

Answer:

Answer:

Monday 7/1

Tuesday 7/2

Wednesday 7/3

Thursday 7/4

Friday 7/5

Write the following as a
decimal:

Arrange the numbers in
increasing order:

Multiply 38 by 6. Then
find the value of each of the
following:

A farmer sold 200 chickens
at $3.50 each. With the
money he received from the
sale, he bought 30 turkeys.

Estimate. Then find the
actual value:

40.08 =3

1 3
* E * 1,000 25’ 2.05, 2? 251 0.038x 6 Find the cost of one turkey
to the nearest cent.
0.038 x 600
3.8x 60
Answer: Answer: Answer: Answer: Answer:
Monday 7/8 Tuesday 7/9 Wednesday 7/10 Thursday 7/11 Friday 7/12




Find the average of the
following:

Rowley traveled 5, 460 km
in 3 months. What was the
average distance he

True or false: a point at
(5,6) is 6 units away from
the y-axis.

A man has 6 packages.
Their average mass is 18
kg. Find the total mass of

The average of 3 numbers
is 45. If the average of 2 of
the numbers is 27, what is

12.5,36.2, 30.4, and 26.1 traveled per month? the 6 packages. the third number?
True False
Answer: Answer: Answer: Answer: Answer:
Monday 7/15 Tuesday 7/16 Wednesday 7/17 Thursday 7/18 Friday 7/19

Jamie has $31.75 in
quarters. How many
quarters does he have?

Davis multiplied 3.47 by
0.9 and got the answer
31.23. Is his answer
correct? Why or why not?

Find the equivalent

measures:
4,070nm = km
5,200 g = kg

51in. = ft

How many pounds is 45
ounces?

How many feet is 235.2
inches?




Answer:

Answer:

Answer:

Answer:

Answer:

Monday 7/22

Tuesday 7/23

Wednesday 7/24

Thursday 7/25

Friday 7/26

The volume of a cube is
125 ¢m3. Find the length

A rectangular tank, 12m
long and 5 m wide, contains

Find the volume.

Find the volume.

A tank has a height of 3 m

and a base of 2 m2. Itis g

of each edge of the cube. 300 m? of water when it is N s o
full. Find the height of the gl oo.....” " | filled with water. How
tank. much water is in the tank?
Answer: Answer: Answer: Answer: Answer:
Monday 7/29 Tuesday 7/30 Wednesday 7/31 Thursday 8/1 Friday 8/2




Find the measurement of Find the measurement of Find the measurement of What is the difference Is it true that all acute
angle y. angle x. angle w. between a trapezoid and a | triangles are isosceles
parallelogram? triangles? Explain.
f‘ \\
! 557N
. ;'l;- \\\. \ v
' ~ ~ \\ .'I'."f 10
Ny A
Answer: Answer: Answer: Answer: Answer:
Monday 8/5 Tuesday 8/6 Wednesday 8/7 Thursday 8/8 Friday 8/9

A bakery sold 328 cakes on
Monday. It sold 178 more
cakes on Monday than on
Tuesday. Each cake was
sold for $19. How much
money did the bakery earn
from selling the cakes?

1
Bonnie bought 2§ kg of

1
potatoes and 15 kg of

carrots. How many more
potatoes than carrots did
she buy?

Connie is training for a 4§

km run on a rectangular
running track. If the track
measures 50 m wide and
has an area of 7,500 m?,
how many rounds must she
run?

What are the missing
numbers?

46x7=(40x7+(6x7)

Find the value:

[12+(30—14)]+4x5




Answer:

Answer:

Answer:

Answer:

Answer:




